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TR — — — — — — — — — 0. 0.5 — 0.5 — 1 0. 05 0.003 5
R2.11.19 11:00 23.5 14.1  [RIKHRRAl  ER >100 0.79 1.18 W 7.7 8. 1.2 1.4 3.2 3.8 2 7.7 0.28 503
12:35 22.0 17.3  [RIKFR B ER >100 0.59 0. 64 W 7.7 8. 1.2 0.8 3.3 2.1 2 7.3 0.29 1390
14:40 22. 4 14.1  [RIKHFRRE] ER >100 0.61 0.16 W 7.8 9. 1.5 0.2 3.5 0.6 2 7.7 0.30 847
16:35 20. 6 17.7  [BRIKHRRE) R >100 0.90 0. 86 W 7.8 9. 1.7 1.5 3.9 3.4 2 7.6 0.31 527
18:50 21.0 17.2  [BRIKHERRE) R 86 1. 15 1. 14 W 7.8 8. 1.9 2.2 4.1 4.7 2 8.3 0. 32 134
20:40 20.0 17.6  [BIKHERRE) R >100 1. 02 2. 42 W 7.7 7. 2.0 4.8 4.0 9.7 2 8.2 0.33 165
22:40 20.5 11.2  [RIKHRRE R >100 0.33 0.62 1 7.6 6.6 1.1 0.7 3.9 2.4 3 7.6 0.31 1870
R2. 11. 20 0:40 21.0 12.7  [RIKHRRE]  HER >100 0.25 0.73 HH 7.7 7.0 1.2 0.9 4.0 2.9 3 8.2 0.32 811
2:40 20.5 16.5  |[RIKERRE  HER >100 0.25 0.51 HE 7.7 7.3 1.2 0.6 4.0 2.0 3 8.3 0.32 511
4:40 20.5 17.6  [RIKHRRE|  HER >100 0. 24 0. 66 W 7.7 7.1 1.2 0.8 3.5 2.3 3 8.2 0.33 397
6:40 20. 5 17.8  [RIKFRRG| HER 84 0. 65 0. 00 LR 7.7 6.7 1.6 0.0 3.3 0.0 7 7.8 0. 34 501
8:40 21.5 17.6  [BRIKHRRE R >100 .09 0.59 W 7.8 7.2 1.7 1.0 3.4 2.0 2 8. 4 0.30 184
10:40 22.0 18.0  [HIKHARE R >100 .09 2. 86 W 7.8 7.3 1.7 4.9 3.3 9.4 2 8.2 0.30 292
R AE 23.5 18.0 — — >100 — 2. 86 — 7.8 9.1 2.0 4.9 4.1 9.7 7 8.4 0.34 1870
e/ IME 20. 0 11.2 — — 84 — 0. 00 — 7.6 6.6 1.1 0.0 3.2 0.0 2 7.3 0. 28 134
A 21.2 16. 1 — — 98 — 0.95 — 7.7 7.7 1.5 1.5 3.6 3.5 3 8.0 0.31 626
o 82100 130 302
e - - - - - - i/ A N ke/H ke/ H - N -
KB AR EHOMIT, BFEREZRET 5720, UTOFHAERIC > TR L,

H ) = (BAaRe DO 7 — Z I B TR DT — 2 DHEF /13

BRE O BEEAE, 2 TI00LL EOSEAIZ1000L EE L, ZHUANAOEAIZ1000L E41008 L CHBEHZEE LT,
XBODAMEXIZCODAME (g/s) OREHA.--
MRFHOREHA - - -

it (m/ H)
fmE (ke/H)

BOD X XCOD (mg/L) X ¥ifE (ni/s)
X 60 (sec)
X60 (sec)

ETME (ni/s)
AmETAE (g/s)
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